B002

A L B =
Z N H# 4 FOFRIL (BB ) i il B Hh 22 4% 2R (FE)EEE 22,356,000
Af = 5 B R 26 £ 6 A 3 A ¥ OE M % 22,399,000
FE1TEARE (EARS) R 26 £ 8 H 20 H AALE LEEME#E (100/108) 20,739,815
% f % #F HBA etk ' E A K 20,159,100
LE B {fi#& (100.-108) 18,665,834
% fL &= 99.81%
A*L&%5(100/108)
x E 4 wm =
%=1 F2[q %30 $4[0
1 |kl 1 23,970,000/ 1 22,400,000/ 1 21,400,000/ 1 20,700,000 EFAFRL
2 | AERIEHASH iR BEF AL
3 |IMRXEHIETHIE 2 31,400,000 iR BEFAFL
4 |[FEEHRIEMASH 3 33,800,000| 2 23,920,000 R BEFAFL
5
6
7
8
ARLBIT 57 BE IRE IBE E




